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661 JIEtSE =2 173,064 174,000 2936
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201 LEt2AH| 7,532,159 7,511,362 20,797
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= 4,103,000
Al 2,070,500
osAX&el 23l 1,292,000,000& X 14 1,292,000
O ot=2tHBTLAIY S UEI S +===2
8,196,000& X 43 32,784
O ot=ZtHBTLAIY dutEIIRIAS = (3,216)
o FAx=Y 100,000& X 5% X 43 2,000
o Jlexg 76,0002 X 49 X 43 1,216
O EEEXCE FHSXE
20,000,000& X 13l 20,000
O ti=&HIE33 A A=
600,000& X 1CH X 128 7,200
O tH=&HIES3AS HAAEI 225 7
1,000,000& X 14! 1,000
201-2 3 2ZHl 2,459 6,762 24,303
O 2322 % MAl (2,459)
o ol=QIEXCIS HEZEAEZ
80,000& X 204 X 12& 1,920
o HES MIIEZHE
2= 7,300& X 10 X 128 88
MNEZ 187.9%& X 200kw X1JH2 X 12& 451
202 044 3,960 3,960 0
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O BTL=< E&XE &H
180,000& X 1¥€ X 128 2,160
202-8 SO HAZ 2 US04 1,800 1,800 0
O ot ate| A
300,000& X 3% X 23 1,800
206 M= 4l 20,000 20,000 0
206-1 L EHH = HI 20,000 20,000 0
O otk WESFZ WA +&
20,000,000& X 14! 20,000
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O RIHAZZ R AIZIEE MHERES (12,415)
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212-9 JIEt S 2l = M| 2,000 2,000 0
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O ot ANEEEs HAl2eld]
600,000& X 20004 2 120,000
715 EZ & H| 167,887 153,296 14,591
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201 LBt 69,287 116,496 A47,209
201-2 33234l 69,287 116,496 A47,209
O 32232 HMAl (69,287)
o HESEIENIZ (60,393)
g JlE2s 7,2203 X 700kw X 1JHA X 92 45,486
A PNE=3=3 196.6& X 8,000kw X 9& 14,156
N JlEs 6,160 X Skw X 1J0HA X 12& 370
DS RLEUN =34 105.7& X 300kw X1IHA X122 381
o IEESUSHEIZ +E2 (1,134)
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AT ME2E 830& X 50€ X 128 498
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o0 LESUSEILYEROAHAES 100,000& X 12& 1,200
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o dJ|etMa&e| Xt A3 200,000& X 13 200
202 044 3,600 1,800 1,800
202-1 =L HI 3,600 1,800 1,800
O th=8Z& AMN&LEd
300,000 X 1 X 123 3,600
214 =&KX WAL 95,000 35,000 60,000
214-5 =& 7 XIH| 95,000 35,000 60,000
O YUEESd |2 2|
PLCHIOIE WX S 85,000,000& X 14! 85,000
OSHEZE X2l 24l
625,000& X 16902 10,000
716 Xcl &Hl 7,026,232 6,646, 160 380,072
200 24| 220,460 313,160 A92,700
201 LBt2HH| 128,660 241,360 A112,700
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2 1 700 F%HI%
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2.8 HE -2 ol & o o olpo HlmE2
201-1 At22telt] 126,660 199,360 AT72,700
O gor+gt| (45,360)
o Gt==XElAEE2 JIES M
12,0008 X 500% 6,000
0 BIAHAE FBAMSLE
70,000& X 9 X 128 7,560
o ol=HMelAlZ MEHSHAS 2L =2
700,000 X 2o X 12& 16,800
0 B30t=E AMEZCIUY AIISIHSE MEEH
15,000,000& X 14! 15,000
O ZTot+E AU SDVHIYASARNE ALY
110,000& X 10¥ X 33 3,300
O gx= (2,000)
o St==XelAld ZHIxt 2,000,000& X 12 2,000
O 723, LSAM0IE SSot==HMelAlE JI=a e
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O ZEZ3dt=HMelAld 2AFH =8
50,000,000 X 14! 50,000
201-2 33234l 2,000 42,000 240,000
O 2322 % MAl (2,000)
o ot=XclAlE TMSY StHEE =
500,000& X 4044 2,000
202 o4 1,800 1,800 0
202-1 =L HI 1,800 1,800 0
O dSt=HelAld sd&3&EH
150,000& X 1€ X 123 1,800
206 M=zl 20,000 0 20,000
206-1 L EHH =4I 20,000 0 20,000
O st+Hel® +2 2 2L 7Y
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o 6= 155,000& X 3% X 12& 5,580
o 7= 140,000& X 1% X 12& 1,680
o 8=0Iadt 125,000& X 298 X 12& 3,000
106-3 EF L =HZH| 6,720 6,720 0
O BIILBABLA(550I5t)
80,000& X 798 X 12& 6,720
200 24| 168,260 164,340 3,920
201 Ler29d| 80,700 78,800 1,900
201-1 At 2t/ H| 37,660 37,460 200
O et (37,660)
0 Ot=E AL ZALA QI
3,000,000& X 14 3,000
o Ot=T ALY SIHZBAZA Y
10,000,000& X 14! 10,000
o LI2t&EH 0IE=+==+2
20,000& X 5021 1,000
o HIARES & ARIARE 7L
40,0002 X 158 X 123 7,200
o M2R=R
15,000& X 4& X 12& 720
o A=) gl
70,000& X 123 840
o ot=E2d EA7EY
300,000& X 5& 1,500
o o=k =40 HE =3+¢
190,000& X 3& X 103 5,700
odot=ZAIY ZFFEIL E0M M
1,500,000& X 14 1,500
0 MorHOPINE BHAY
100,000& X 10Y¥ X 33 3,000
0 BIETHLWIL DUUZCEA 42
2,200,000& X 14 2,200
o 2HICYHLLR
1,000,000& X 14 1,000
201-2 33234l 43,040 41,340 1,700
O 22323 % HMAl (13,040)
0 GHHEEM U NANY PHE
5,000,000& X 13 5,000
0 BACES U DIANY BAWLLYI
200,000& X 23| 400
o otx=EFE4 & QIR USIHAM 100,000& X 43l 400
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2.8 HE -2 ol & o o olpo HlmE2
o NSXBA==Z 80,000& X 2CH X 43l 640
o St==E8 3l 6,600,000& X 12 6,600
O Xt Ety| (30,000)
o dt=EFH UERX 25,000,000& X 14! 25,000
o ot=E8¥ XUERX 5,000,000& X 14! 5,000
202 04d| 24,180 24,180 0
202-1 =04l 24,180 24,180 0
O Jl=ge =d0utl
80,000& X 13¥& X 128 12,480
Ol Pu=R-CE=
150,000& X 13¥ X 63l 11,700
203 ¥R =&l 7,840 6,600 1,240
203-2 RIS RF Y| 640 600 40
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12201-09 TE= 384,744,152,756
12201-10 EPIRSEE | R A172,680,640,375
12201-13 JAHEX 55,487,708,267
12201-14 St 2= H A A27,419,621,897
12201-17 gzt 564,356,630
12201-18 St 2= H A A239,336,327
12201-21 S|7HIS 1,526,382,375
12201-22 St 2= H A A 1,451,404,868
12203-00 HIDOtS &8 XHat 35,902,767,270
12203-01 AL S XA 35,902,767,270
12400-00 SE A
12500-00 JIEtBl = S AH&t




S A4 E AR S B H 2o
A ® B o= 3 o

( 17000-00 =% 0

( 18000-00 NES 0

A gk & A 307,993,917,040

( 21000-00 FSEM 4,111,832,901

( 21011-00 Ol== 6,981,280
21011-01 23= 3,157,350
21011-02 2= 3,823,930
21017-00 s8I0 == 6,173,377,760
21018-00 SMOIXI g2 (REY) 2,083,451,689
21019-00 =P =W I DN R=1=]E=] 7,405,550
21049-00 == 7,520,000

( 22000-00 H=S5M 58,305, 689,896
22003-00 SN DA == 71,916,473,567
22004-00 SMOIXI gl Xtz (&2 13,741,428,961
22031-00 EXSHESE R 130,645,290

M = A 62,417,522,797

( 31000-00 A== 100,602, 155,391
31001-00 A== 100,602, 155,391

( 32000-00 A=2d0=s 259,352, 268,560
32001-00 e = 157,059,416, 880
32003-00 ANEHIEX=S 14,364,770,190
32005-00 EtslHEXS 27,589,718,000
32007-00 NEZES 6,972,000,000
32009-00 SAMNEES 716,979,000
32011-00 HOIRE= 42,060,766,570
32015-00 2= 10,588,617,920

( 33000-00 Ol 2= A 114,378,029,708

( 33900-00 ZII0IE0ILUAHZ A 114,378,029,708

( 33999-00 =d=20/E0/dA0= A 110,778,578,818
33999-01 &II01E0IYdLNH= A110,778,578,818

gJI=01< A3,599,450,890

4= A 245,576,394,243

SMAX= ESH 307,993,917,040




| aAvaymaM |







ol ® & o A oA
D1 :2018/1/1 ~2018/12/31

dEANSt=TAIASE 3 A = 0 &
H 3 ¥ = = oH
41000-00 O =N ) 16,236, 378,000
41001-00 MNEE 9 16,063,314,000
41047-00 JIEIDH= A 173,064,000
42000-00 O =& Ot ) 25,860,001,890
42001-00 2t HHl 2,234,743,000
42003-00 I A 167,887,000
42005-00 Xl &l 7,026,232,000
42017-00 a2l 16,252,393,890
42019-00 S ek a2 178,746,000
| £ & 0l & N9,623,623,890
43000-00 EHOHHI 2t 2tel bl ) 1, 147,827,000
43009-00 ket 1,147,827,000
Il g g o ¢ A10,771,450,890
44000-00 Y= ) 7,193,000,000
44001-00 Ol Kt==< 90,000,000
44004-00 Bt AN E S+ 7,103,000,000
45000-00 AL E ) 21,000,000
45023-00 HNLF-dEd 20,000,000
45047-00 JIEtE EeHlE 1,000,000
Il g & 0 <« N3,599,450,890
46000-00 SE01% )
47000-00 S84 )
v g Jl = 0l « N3,599,450,890






